
Glass thickness
1:5

t = 10.75mm

t = 10.00mm

t = 8.75mm

t = 8.00mm

t = 6.75mm

t = 6.00mm

1:20

ROUND TUBE D42.4x2
Stainless steel Aisi 304 or 316

ROUND TUBE D42.4x2
Stainless steel Aisi 304 or 316

10
0

22 22

50

Fragment
1:10

13
0

1000
1100

15
0

900

1200

Total height

10
0

Top view
1:20

rubber
thickness of the
regulated by the
Glasses are

Producer: STABICO OU
Tallinn, Estonia
Tel: +372 555 17 989
Web: www.stabico.ee 

e-mail: stabico@stabico.ee

15.01.2018TEMPLATE
GLASS RAILINGS D42412-1



Step 1
1:20

DET 1-1

Installing columns

1-1
1:5

(not included)
Concrete screw

Cover plate

Top view
1:20

between columns up to 1000mm
Recommendable distance

Producer: STABICO OU
Tallinn, Estonia
Tel: +372 555 17 989
Web: www.stabico.ee 

e-mail: stabico@stabico.ee

15.01.2018INSTALLATION MANUAL
1/3GLASS RAILINGS D42412-1



Step 2
1:20

Installing handrails

DET 2-2

Need to drill d5mm + threaded drill M6
on the site after the columns are installed.
Handrail and corner profile will be drilled

DET 2-3

DET 2-1

2-2
1:5

DIN 7380 M6x10
Button head bolt

tube
Connection tube

Connection

under the tube
10 mm from the end
DIN 7337 d3,2x12mm
Stainless steel rivet 

2-1
1:5

DIN 7380 M6x10
Button head bolt

tube
Connection

under the tube
10 mm from the end
DIN 7337 d3,2x12mm
Stainless steel rivet 

2-3
1:5

Wall adapter

will be attached
on the place where
Fasteners depends

(not included)GL 42x2
Plug

DIN 7380 M4x6
Button head bolt

Producer: STABICO OU
Tallinn, Estonia
Tel: +372 555 17 989
Web: www.stabico.ee 

e-mail: stabico@stabico.ee

15.01.2018INSTALLATION MANUAL
2/3GLASS RAILINGS D42412-1



40

54

Clamp view
1:5

24

42.2

50

Step 3
1:20

Installing glasses

3-1
1:15

1:5

Glass

1

2

3

DIN 912 M8x20
Socket Cap Screw

Rubber

15.01.2018INSTALLATION MANUAL
3/3GLASS RAILINGS D42412-1

DIN 7991 M6x10
Countersunk Head Screws

Producer: STABICO OU
Tallinn, Estonia
Tel: +372 555 17 989
Web: www.stabico.ee 

e-mail: stabico@stabico.ee


